1.

“Can you show me one free country
where there are separate electorates ?
... The British element is gone, but they
have left mischief behind’

Who among the following said the above

mentioned statement in the Constituent
Assembly debates ?

(a) Somnath Lahiri
(b) Jawaharlal Nehry

(¢) Sardar Vallabh Bhai Patel
(d) N. G. Ranga

.

How many districts of Uttar Pradesh

has been covered under the Aspirational
District Programme run by NI%I Aayog,
up todune, 20212, i~ e,

(@) 4 (b). 6
(c) 8 (d) 10

. Which of the followih‘g is NOT the eligibility

criterion before filling registration
application forms for Uttar Prades
ukhya Mantri Swarojgar Yojna 2021 ?

(a) Age group from 18-40 years '

(b) Minimum high school pass certificate

(c) Should not registered in any Central
Government or State Government
Swarojgar Yojna :

(d) Citizen from any State of India

. With reference to the ‘Uttar Pradesh

Pogulati’o'nr Control, -Stabilisation.
and Welfare’ Bill, 2021 which of the
following(s) is/are correct ? * -
1. This Bill aims to.brin%the‘bi_rth
rate down to 2.1 Ber thousands
population by 2026. . s
2. At present, the-fertility rdte in the *
~State is 2.7 per:thousand.’- . .- :
Select the correct answer using the codes
iven ‘below. : :

odes :, , .'.\.‘; . .‘...(,
(a).Only 1 {b Only 2
(c"Botg lland 2 (d) Neither 1 nor 2

. Which one of the following rivers is NOT

the part of Indian Ganga river basin ?
(@) Punpun river  (b) Ajoy river
(c) Jalangi river  (d) Jonk river

. Among the following countries India’s "

trade balance surplus is maximum with -
which country in 2019-20.? s

(a) USA - - (b) China

(c) Japan  (d) United Arab Ernirates |
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11.

. On the recomm

The symbol ECOMARe: :
which of the followingl'iC 1

(&) Goods of best quality

(b) Safe goods for environment
(c) Exported goodsg

(d) Imported googs

S related to

endatlon of which

Mmittee, the Inter-state
P in Ind1a ?
(@) Punchhi Commission

(b) Rajmannar Committee
(c) Kothari Committee
(d) Sarkaria Comrmssmn

Commission/Cop
Council was set u

Which of the followin
matched ?

(@) Hundru Waterfa]] — Subamarekha

g is NOT correctly

River
(b) Chachai Waterfa]] — Bihad River

(c) Dhuandhar

— Narmada
Waterfall River
(d) Budha Ghagh — Kanchi River
Waterfall '

Nitrogen is NOT an essential constltuents
of

(a) Chlorophyll

(b) RNA
(c) DNA

(d) Carbohydrate

Match List — I with L1st - II and select‘

the correct answer usmg the codes gwen
below the lists.

List - I Llst II-
(State) (Representatlon in |
. Rajya Sabha)
A. Rajasthan 1. 10 seats .
B. Gujarat- 2. 7'seats
C. Karnataka 3. 11 seats -
D. Punjab 4. 12 seats
Codes : : wE
A. B. C. .D
@ L. 3 42
b) 2.3 4 1
@ 1772 3 -4 -
(d):~ 4o (3 1 2
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13.

14.

15.

Given below are two statements, one is
labelled as Assertion (A) and other as
Reason (R) :

Assertion (4) : Human body synthesises
all the vitamins required by it.

Reason (R) : Vitamins are esseritial for
proper growth of the body.

Select the correct answer using the codes
given below,

Codes :

(@) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false -

(d) (A) is false, but (R) is true

Which one of the followmg Acts of

British India strengthened thé Viceroy’s' |

authority over his executive council by.

substituting ‘portfolio’ or ‘departmental”.

system for corporate functmmng e
(a) Indian Council Act, 1861 ‘
(b) Government of India Act, 1858
(c) Indian Council Act, 1892

(d) Indian Council Act, 1909.

According to ‘Global Peace. Index 2021’ ;

which of the following is. the most
peaceful region in the’ World P

(a) Africa
(c) Australia

(b) Europe
(d) South Amenca

——————

Which of the followmg is NOT correctly
matched ? N

Institute e Location
(a) International Centre = Na1rob1
for Researchon ~ . -~ :
Agro-Forestry o
(b) Indian Institute of — Bhopal
Forest Management e
(c) Central Agro-Forestry 'a'—"Banda

Research Institute

(d) Tata Energy Research = New Delh_l

Institute
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19.

20.
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Which of the fol

essential for nopp, § Vitaming ig

: al visjon ?
(a) Folic acid (b) Riboﬂavi
(c) Niacin (@) Retingg i
Which of the followin

NOT situated in Uttar %r}:ge“;ia; site is
(@) Sur Sarovar

(b) Samaspur Bird Sanctuary
(c) Sansai Nawar Jheeg]

(d) Surinsar-Mansar Lakes

II. Telangana
III. Jharkhand
IV. Haryana

Select the corre
given below.

Codes :

(@ I, I, I, 1v
(b) IV, I, I, I1
(o) I, I, IV, I
(d) Iv, 10, I, 11

Ct answer from the codes

Who among the following had performed
the world’s first heart transplant ?

(a) Dr. Venugopal '

(b) William Harvey

(c) Christian Bernard

(d) William Betrick

Sugamya Bharat Abhiyan is associated'
with ARG T
() Disabled Persons

(b) Child Health Care

(c) Women Empowerment

(d) Under Privileged People . . .

Fruits stored in a cold chamber exhibit

longer storage life, because |

(a) Exposure to sunlight is prevented -

(b) Concentration of CO, in-environment '
is increased

.
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22.

24.

25.

26.

27.

SMRN-1 - 21
List - 1 with List - II and select | 22. ~ I =t - 11 & gRfera i qa
{‘{ﬁtﬁglle‘; answer using the codes given ;;Eﬂ feu }Tféﬁ H Fgl I B = hifa |
below the lists. Fﬁﬁ -1 H@ﬁ -1
List - I List - II i
(Text) (Author) () )
A. Ragamala 1. Somanath A, THTET - L. g
B. Rasa I\(’agllgildl 2. Venkatlramarﬁ 1 B. ™ 2. dehewH
C. Raga Vibodh 3. Pundrik Vittha C. T q 3. qustl® ﬁm
D. Chaturdandi 4. Sri Kantha ' T TR '
Prakashika D. 4. M FS
Codes : R
A B C p JU@UppcsHoAro A B ¢ D
@ 3 4 1 2 @ 3 4 1 2
) 4 2 1 3 b) 4 2 1 3
© 2 3 4 1 ¢ 2 3 4 1
@ 1 2 3 4 @ 1 2 3 4

. In which year. P.C. Hota Committee on

Civil Services Reforms was constituted ?
(a) 2003 (b) 2004
(c) 2005 (d) 2006

As per the Census, 2011 estimates,’
which one of the followmg is the most‘

populous State in India ?
(@) Bihar

(c) Maharashtra (d) Uttar Pradesh

Which of the following countries is NOT
located on the bank of the Black Sea ?

(a) Syria (b) Turkey .
(c) Georgia (d) Bulgaria
The National Disaster Management

Division in India is the nodal division
in the Ministry of Home Affairs for

disaster management. Who is the
Ex-officio Chairman of the National

Disaster Management Authority ?
(a) The Prime Minister

(b) The' Home Minister

(c) The Defence Minister

(d) The Health and Family Welfare Minister

Which of the following newspapers
won the ‘Pulitzer Prize, 2021’ in_the,
prestlglous public service category P

(a) The Wall Street J ournal ,"
(b) The New York Times =~
(c) The Wash_mgton Post

(d) New York Post’

(b) Madhya Pradesh
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28. Consider the folgw: n
them into chrong] & ovents and arran
L. Sharda Act ocal order 3

IL. Nehru Report

II1. Constitution of S
IV. Dandi March

Select the Correct .
given below., AASWer using the codes

Codes :

() I, 11, I ang 1v
(b) L 1L, I ang 1v
(¢) IV, I, 11 anq |
(d) L, IV, T and 11 .

In which one of the following ot
country’s first Ing; owing cities
was established 1an Instityte of Skills
(@) Ahmedabaqg
(c) Rohtak

i . )
mon Comnnssmn

29.

(b) Mumbaj

(d) Kanpur

30.
correctly matched ?

(Name of local (Places)
winds) - ,
(@) Leveche - Spam .
(b) Brickfielder - Australia
(c) Black roller - North America
(d) Shamal —  Austria

31. Riboflavin deficiency cause

following diseases ?
(a) Pellagra
(c) Beri Beri

(b) Scurvy -
(d) Cheilosis
/32, Which one .of. the follo
. ., correctly matched ? - oyl
"' (Name of Player) (Medal Won in

Tokyo Olympic ' SO

2020
(@) P. V. Sindhu - Bronz¢ Medal
(b) Bajrang Punia - Silver Medal
(c) Mirabai Chanu - Silver Medal
(d) Neeraj Chopra - Gold Medal

33. -
Stock Exchange (BSE)..It-is measured
onoc’ihe %asis %f ‘how many th}lﬁ chip
companies listed in"BSE 7" . )

(@) 20 (B)B0:s -
(C) 25 (d)]-.o .'f\'-."\
D N

s which of thei

wing is NC)TE

‘SENSEX’ is'thie popular Iridexof Bombay

»
.

4

29,

30.

31.

. 32

SMRN-1 - 21
Fefafen wemett w Ream e 7o =
I, YTy IR
II:QIBEW 19
L |rgm TS 23
IV, & ot 1]
ﬁﬁ?%%ﬁﬂ'&“rm%ﬁrwﬁml
(a) iu, I, 1 9o IV
(b) I, II, III g 1v
(0) IV, 0L, 11 der
(d) L, IV, 119 17
ﬁm%ﬁgameﬁﬁ%ﬁwqmﬁ%mwm
WWWWWW?
(a) JTEHGETE (b) =g -
W= (@) e
ﬁzr%ﬁaaﬁéaﬁq-m@@wﬁgﬁﬁaﬁ%?
o (T T (vam)
() S& - w0 '{
B OREC 2 N S S ;
(O =FAIR - 390 amif i
S
Rifed 1 wft & Py o § -
@ T 0; . (b) @ c
ORI, (0) Y
- Pt 4 & A wd g @i 4 ¢
- (Reedtwnam) (TRt sty
S 2020k
@&ty - Fyes
(b) ST g . - T Y&
ORI ORI S -
(@) g - v

"33, i A S WS (BSE) w1 waRw

=7-

et & | s, § qefeg et = R
FPI A AR 7

(a) 20 . (b) 30

(c) 25 Cold) 10 s




—

-

34. ‘Ringelmann scale’ is used to measure

density of
(@) Smoke (b) Polluted water
(c) Fog (d) Noise

35. What is the theme of World Youth Skills
Day, 2021 ?

(a) Young People and Skills
(b) Skills Development and
Employment

(c) Young People and Entrepreneurship

(d) Reimagining Youth Skills Post
Pandemic

36. Which one of the following causes is
responsible for rainfall during winters
in north-western part of India ?

(a) Retreating Monsoon
(b) Cyclonic depression
(c) Western disturbances
(d) South-West Monsoon

37. Which of the following Bills can NOT be
first introduced in Rajya Sabha ?

(a) Ordinary Bill

(b) Constitutional Amendment Bill
(c) State Re-organisation Bill

(d) Money Bill

38. Botulism is
(a) Food-borne infection’
(b) Food-borne intoxication "
(c) Water-borne infection F
(d) Water-borne intoxication

39. The ‘Saras Ajeevika Mela - 2021’ was
organised in which of the following city ?

(a) Patna
(c) Lucknow

(b) Raipur

(d) Noida

40. Who was the founder of the ‘Asiatic
Society of Bengal’ ? ' . !
(a) Jonathan Duncan .. .
(b) Sir William Jones
(c) Warren Hastings

(d) William Bentinck

ﬁ
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1. Given below are two

Stat
labelled as Assertion (A)eglrf

Reason (R) :

nts, one is
d other as

mponents of
erdependent,
activities have the
onment,

answer using the codes

an ecosystem are not intey

Reason (R) : Human

impacts on the envir

Select the correct

given below.

Codes :

(a) Both (A) and (R) are t i
correct explanation OP?X) PR

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

42, Consider the following and '
in chronological ordey ;o 2nge these

I. Golak Nath Case

II. Keshawanand Bharti Case
Il 24" Constitution Amendment Act
IV. 42"d Constitution Amendment Act

Select the correct answer from the codes
given below. !

Codes :
(@) I, IOI, II, TV (b) I, 11, III, IV
(o IOL, I, II, IV (d) 11, 1, 1V, II

43. With reference to Socotra Island, which of
: the following statement/s is/are correct ?

1. It is an Island of Oman, situated in
the Arabian Sea.

2. It was designated as a world natural
heritage site by UNESCO in 2008.

Select the correct answer using the codes
given below. e

Codes :

(a) Only 1

(b) Only 2

(c) Both 1 and 2
(d) Neither 1 nor 2

44. Which Indian Naval Ship participated in
Exercise Cutlass Express, 20217

(a) INS Vikrant AR
(b) INS Magar

(c) INS Talwar

(d) INS Vikramaditya

41.

42,

43.
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45.

46.

47.

48.

49.

S0.

51.

52.

h one of the following is NOT a major
Xglé:)cproducer country ?
(a) Latvia (b) Cameroon

(c) Ghana (d) Ivory Coast

Which of the following particles has zero
charge ?

(a) Positron (b) Neutrino

(c) Electron (d) a-particle

At the time of second wave of
COVID-19 Pandemic, which institute
had demonstrated the conversion of
nitrogen generator into oxygen generator ?
(@) IISc, Bengaluru

(b) IIT, Bombay

(c) IIT, Madras

(d) IIT, Kanpur

Which one of the following is known as
acceleration stage in the urbanization
curve ?

(a) First stage (b) Second stage

(c) Third stage (d) Fourth stage

Which of the following words is NOT
mentioned in the Preamble of the
Constitution of India ?

(a) Sovereign (b) Democratic

(c) Secular (d) Federal

Who among the following never presided
a Session of Indian National Congress 3

(a) Lala Lajpat Rai

(b) Bal Gangadhar Tilak i
(c) Gopal Krishna Gokhale,
(d) Subhash Chandra Bose o

Which of the followmg is NOT mosqulto
borne disease ?

(a) Dengue fever (b) Filariasis

(c) Sleeping sickness (d) Malaria

With reference to the Satavahana Rulers
wh1c}?1 of the following statement/s is/are
true
1. The Satavahana Kings were the
nurtures of Prakrit language.
2. Public aspect of the arts got

more encouragement durlng the |

Satavahana period.

Select the correct answer usihg the codes

given below.

Codes : ,
(a) Only 1 gb; Both il and 2
(c) Only 2 d) Neither 1 nor 2
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45.
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wmmmmﬁghmmwaw
e femar T ?
(a)ﬂﬂaﬁﬂﬁﬁﬁw,w
(b)aréaﬂs"& B

P & @ Fra TR T §
37T gl ST @ 7 |
(2) T SFEAT BRESREE
(c) Teftar arareen (d) =g aran

frfafaa # @ SHF-91 15 AR Hioyw $
e H Iocifad TRl & 7 .

(2) TP (b) AT

(c) dafaTey (d) g

frafefaa o @ foram wft oft wweta Tl =i
& fordft oft Irfaym i sreaerar 7@ 4 7
(a) TR NG T

(b) =& TR foerh

" (c) TS HET gt

() g9 w; S
"ﬁm%%aﬁéﬁq—mﬁwwaﬂ%ﬂﬁ%?
@S (b) FRERERE

(c) Fgrdm d) wfar .
mmsmﬁmmﬁ

HH-HT/8 YT T B/8 7.
1. WWWW%W?}I

2. mmﬁw%mwﬁm
icaTe fire |

| ﬁﬁsm%ﬁﬂﬁwaﬁgﬁm,
(a)%Wfl (b)mﬁxzaﬁ
Q%2 (@ FRITE2



53.

54.

55.

56.

57,

Whic_h among the follows
permanent and °Perationg are India’s
stations.in Antar nal research

oy Ctica ?
(a) Bharati-and
(b) Bharati and Dakshin ‘
(c) Bharati and Maity; . 20g0tri
(d) Dakshin Gangoty; and Majtyi

Which one of the
cqrrectly matched ?

(Provisions)

following j5 Nop

(a) Fundamental Rights ~(SL?S‘XceS)
(b) Di_re_ctive Principles of

State Policy — Ireland
(c) Residual Powersg of

anter — Australia
(d) Emergency Powers — Germany

Nobi and Kanto
which of the follo
(a) North Korea

(c) Japan ‘

p}ains are loge{ted in
Wing countries ?

(b) South Korea

(d) China

Match List - I with List — I ang select
the correct answer using the codes given
below the lists. -

List - I List - II
{Scheme) (Year of Launch)
A. Aam Aadmi 1. 2021
- Bima Yojna
B. P.M. Aatmanirbhar 2. 2016

- Swasthya Bharat Yojna

C. Pradhan Mantri 3. 2007
- Jan Aarogya Yojna Nty w
D. Pradhan Mantri 4. 2018
- Suraksha Bima Yojna
Codes : -

A B C D
@ 1" "2 3 4
b) 4. 3 2 1
© 3 1 4 2
d 2 4 1 3

Tapa cldtﬁ is obtained frt_jm ‘the_ plants
of which one of the following famﬂy ?

(a) ,As_clépiadaceae (b) Moraceae -
(o) Gfam‘i’nae’ | (d) Malvaceae

53.

54.

5S5.

56.

'\ 57.

-1i_

SMRN-1 -—21

iR o & - aferfesh & v @ s
3R IHH G R STHNT WY B 7

() W iR a7t

(b) Wt 3T gféor i

(c) Wt 3fc :h

(d) &l Tt af sy

?;?mﬁaam-m@mwgaﬁa
?

(STrerEm) (E)
(a) M a1ftrrr - TIH T
Knite

(b) T4 % iy Fées 7 - amrdve
(c) 75 1 arafire widmt - st
(d) SMUTeRIeE wieqat - sl

%ﬁ?ﬁﬁ%ﬁﬁﬂ%@aﬁ%%ﬂ%mﬁ@a
(a) S Ffen (b) afeor sifen
(c) STa™ (d) ==
'q\?ﬁ-laﬁq\%ﬁ—uﬁgﬁﬁﬂﬁquﬁﬁ
9w T e @ T IR = AR
TRt - 1 et - 11
() (STt =)
A. 3™ 3rEHt i Giem 1. 2021
B. .. arraqﬁ\a/q‘{'ww 2.2016
R T '
C. YUl S J™ AW 3. 2007
D. suwf gean fimr A5 4. 2018
%e:
A B C D
(@ 123" -4
b 4 3 2 1
© 3 1 4 2
@2 4 1 3 -
fFrfafaa § & Frg ow % N9 Qo 5
(a) UERelifieedt  (b)
© W (d) mead




39.

60.

61.

62.

.

58.

As per SDG India Index and Daghboard
2020-21 published by the NITI Aayog,
which one of the following States was
NOT among the top fiye States in their

performance regarding SDGs in the
country ?

(@) Gujarat

(b) Andhra Pradesh
(c) Goa

(d) Tamil Nady

Who among the following Director
won the Oscar Award for the best

motion picture in 2021 for the movie
“Nomadland” ?

(@) Chloe Zhao

(b) Emerald Fenne]

(c) Lee Issac Chung
(d) Thomas Vinterberg

Which of the following Institution /Office
bring out the Wholes

ale Price Index (WPI)
data in India ?

(@) The Reserve Bank of India

(b) The Ministry of Commerce and (
Industry

(c) The Ministry of Finance

(d) The Ministry of Consumer Affairs,
Food and Public Distribution

The primary duty of the Finance
Commission of India is :

(@) To give the récommendations on
distribution of tax

revenue between
the Union and States

(b) To grepare the Union Annual
Budget

(c) To advise the President on financial
matters

(d) To allocate funds to various
Ministries/ Departments of the
nion and State Governments

‘The Clock is Tickin

g’ is the theme of
which of the followi

ng days ?
(a) International Yoga Day, 2021

(b) International Women’s Day, 2021
(c) World Tuberculosig Day, 2021
(d) World Malaria Day, 2091

Y

- 62,

-12.

59.

60.

61.

SMRN' 1 ~ 21

58. i v g e T, s

' Wy
e T 2020-21 FH AR ety
HH-T1 T 2. wefi I mhg
2 35 Y e e

(a) TSTT

(b) 3% SR

(c) T

(d) it .

2021 % SR TS W g e WA Rrrey
frferfiaa o & fred R o 2

(a) ¥_rT, 33l

(b) THITS Het

(c) =it T8 g

(d) ¥E et

R

i I T i (W) 3 o7

o
ﬁ%aﬁmmmqq/mfmwﬁ ‘

(c) fort T :

(d) S9itern WY, Ter w e
LIS

WT % ot ST < et ey 2
() ¥ 31K TR % Wt w5 e 3 Ry
g Rrwhat 3

DG R ——

(c)~mﬁaﬁﬁ?ﬁam?ﬁmwﬁém'

(d)ﬁaamwrﬁ%%iﬁaﬁmzﬁ/ﬁwﬁ
%mﬁhﬁwﬁhmm

B R R e 4 v e
w9
(@) RIS At R, 2001

(b) SFisrr e feerm, 2021
(c) fore At R, 0007

(d) fov wdfen Rew, 2001



63. Given below are tywq

Jabelled as Asserti .S
Reason (R) : Sertion

Assertion (A): T .
tributary og' Clxanggsga SIve
of Brahmaputra

Reason (R) : River capturin

feature of Himalayap, piy ers S IS @ major

Select the correc
given below, tans

Codes :

a) Both (A

@) correcgt )e;l;lgl'(g)ti%{'le (%ﬂl(l,txe

(b) Both (&) and (R) are ry ..
not.correct expfanatigrli %bet

(c) (A) is true, but (R) is fals @

(d) (A) is false, but (R) is truZ

and (R) is
(R) is

64.

(a) World Economic Fo

(b) World Bank e
(c) OECD

(d) UNCTAD

65.

three ?
(a) Sand Desert
(b) Paddy crop land

(c) Land covered with fresh snow- -
(d) Prairie land |

06.

correctly matched ?
(Subject) - -+ (Related
» ~ Articles)
(@) The separation of = - = Article 50
Jjudiciary from executive
(b) The promotion of —-Article 46
educational and S Sl g SRR
economic interests
of Scheduled Castes
and Scheduled Tribes
(c) The promotion of
Co-operative Societies .« 50
(d) The organisation of . — Article 40
Village Panchayats ~"""" " %
and enable them.to. ;i =ell i)
function as the units._. __ .. .
of self government ="

tateme
ntS, one i
(A) and other 81:

Which one of the followin
¢ greflects b
more sunlight as compared to ot?lcel;

Which one of the following is NOT

— Article 43A |
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63.

64.

65.

66.

. (a) ARIUTTRT 9 SHrEfuIfeTeRT

“(d) T I <R T

SMRN-1 - 21

T o Ryma ¥, Rt & Ty arfrre (A
¥ GER AT (R 1 R “
ST (A) : frea 7t wee) i 6 e
oft TSRSt 7% SrRT < e A 2 |

HR(R) : e 31000 Rerery ) ARt 1 @

zrﬁgam%|
?@W%ﬁwaﬁtmmaﬁﬁm

(2) (A) 3 (R) T ey & ik
WW;% (R), (A) I &t

(b) (A) 3R (R) T e &, R

T AR T e R, @A
(c) (A) & &, g (R) TTerar &
(d) (A) Te@ B, g (R) wer 2
= & @ forw wmeT g wifRE —19 %
TR H AT areforeed F 3o g ¢ iy
TATE W IRE fR o 7 AL AL
(a) Tava i b
(b) forvm ¥
(c) N3
(d) TS (@€ AHT )
Frafafes 4 @ o o/ @1 7 3
T2 1 Tt gl s R o i
(a) 3@ =1 e
(b) & T et it oy
(c)ﬁmat%ﬁaa?r%{ﬁ
(d) St wftr (wmsfiarer)

ﬁqﬁaﬁ@aﬁﬁ;mgmwgamw@%?

- (fow) (
, w03)
TR 50

- IR 46

6 TR

(b) STFg{ea Snfoat qom
g Sefaat -
Qeafores qem omfdfr
feat it aifirafa

(c) WERHY Hrarste
Ga ‘

THTEA1 o 9 H HE w
R ST




i3
hich place,

ﬁ;V:he Adalat-i-Ala

(a) Amritsar

(c) Firozpur

67.

68.

69.

70.

71.

ace did Raja Ranjit Singh set

(b) Lahore
(d) Multan

who among the following was the
Chairman of the First Finance
Commission of India ?

(a) Shri. Santhanam
(b) Shri. K. C. Neogy
(c) Dr. Raj Mannar

(d) Shri. A. K. Chanda

Which of the following Schemes in Uttar

Pradesh were introduced in Budget of
2021 -227

1. Atmanirbhar Krishak Samanvit
Vikas Yojna

II. Mukhya Mantri Saksham Suposhan
Yojna

1. Mukhya Mantri Pravasi Shramik
Udhyamita Vikas Yojna
IV. Yuva Udhyamita Vikas Abhiyan

Select the correct answer from the codes
given below.

Codes :
(), Tand III
(I, Tand IV

(b) 1L, 11 and IV
(d) L, I and IV

With reference to ‘NET — ZERO’ goal for

2050, which of the following statements

is/are correct ? ‘

1. It means that a country will bring
down its emissions to zero by 2050.

2.1t means that a country’s emissions
will be compensated by absorption
and removal of green house gases
from the atmosphere.’

Select the correct answer using the codes

given below. '

Codes :

(@) Only 1

“(b) Only 2
(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following is the correct

sequence of the Islands of Indonesia from
West to East ?

(a) Java, Sumatra, Lombok, Bali
(b) Sumatra, Java, Bali, Lombok
(¢) Sumatra, Java, Lombok, Bali
(d) Bali, Sumatra, Java, Lombok
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67. T i g 7 fpg T W Aed-T-

SMRN-1 -

Y T HT 7
(a) STTH
(c) TSR

i |

Pt 3 & 9 T 3 oW PR 3

ALY AT 7

(a) #ft. wTH

(b) . %. <, Frawft
(c) ST, TS AN

(d) *ft. T . =<

. feifRag 3 @ w-d AT I e  aw

2021 -22 i@ R T & ?

1. SRR e Tt fae 2T
11, FEr WEm gareor A

111, g varh st Safi e g
IV. e et foerm

19 R T e ¥ T I B T HINT |
e
(a) I, 1 W& III (b) 1L, Il @& IV

(c) I, I W& IV (d) I, I & IV

. 2050 % for Fe-<’ e & g

frerfofaa § & SF-a1/8 S TR 3/3 ?

1. zaeht IR & 76 2@ 1 2050 T I
IS ) A e A AR |

2. g 1R & fe ferdlt 2w & Ieae
#i gfgfd araE ¥ 7 g A6 w=
TR q TS 8 2

e faw e ge ¥ g€ I A = HIRT |

w2

(@) ad 1

(b) ad 2
(c) 1 3T 2 gmi

(d) TR 1TH2

. SRR S i T ol & e R
€ o Pt o @ a2 ¢

(a) m’ w’ Fﬁm’ Eﬂ?ﬁ
(b) GATAT, ST, STl SHeh

() g, SITET, S, STl

(d) STt AT, ST, Aives



s

72.

73.

- 74.

75.

76.

Which of the following labour related
Acts have been amalgamated into the
‘Code on Wages, 2019’ ?

. Minimum Wages Act

II. Payment of Bonus Act
III. The Contract Labour Act
IV. Equal Remuneration Act

Select the correct answer using the codes
given below.

Codes :

(a) I and II only

(b) II and III only
(c) I, IT and IV only
(d) I, II, IIT and IV

Who among the following person said
for the Fundamental Rights “a pledge to

our people and a pact with the civilized
world” ?

(a) Pt. Jawahar Lal Nehru
(b) Dr. Bhim Rao Ambedkar
(c) Dr. Rajendra Prasad

(d) Dr. S. Radha Krishnan

Largest saline water lake in India is
(@) Chilka (b) Sambhar
(c) Lonar (d) Wullar

Arrange the following foreign travelers
in chronological order of their arrival in
India :

I. William Hawkins

II. Ralph Fitch
III. Sir Thomas Roe

* IV. Nicholas Dawnton

Select the correct answer using the codes
given below. ‘

Codes :

(a) II, I, IV and III
(b) IV, 11, I and III
(c) I, I, I and IV
(d) IIL, II, IV and I

‘Blue baby syndrome’ is due to the
presence of which of the following in the
blood ? '

(a) Haemoglobih " (b) Methéinoglobin
(c) Lead - (d) Nitrate

72.

73.

74.

75.

76.
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e 3 & - o g b 1 wEd
wfear, 2019' ¥ widfera Rpar TR 7

L =ram "t srffrm

I 98 Y siffem

111, =fyer sm arfafem

IV. 59 iifies arfifry

e 2 ™ 52 ¥t s H ww HRE
F2:

() et I 3K II

(b) et II 37K 111

(c) Saet I, II 3R IV

(d) 1, II, III 3R IV

TrforRea & fore safe 3o ettt “am
| o fore weh s o e fva ¥ wor R
T GHEHAT | e o ?
(a) TS ST A EE
(b) . i e
(c) . TS5 yETe
(d) ST. @@, TUTHEwE
Iaas o @R U 6 god o 3t 2
() Toreemt (b) W1
(c) AT (d) I -
frmifetea foceft i #t 3% W o
HITHATIAR e Hifve ;.
1. faform wrferr |
II. Te% fher j
I T &8 U |
V. feieE s&e
= fu g e @ Tl I " AR |
F: f
() II, I, IV 9T 111
(b) IV, 11, I @ III
(c) 1, III, II @& IV
(d) 10, IT, IV & 1

wa ¥ frafafea & @ fradh sufufy & o
s R dmg e

(a) TR (b) Al
() T (d) e




77.

78.

79.

80.

81.

- sh Government declared in
gttgrel:rgggl-z.? to Prowde tablet for
sgxdgent under which of the following

Yojna ?

(a) Chief Minister Abhyudaya Yojna
(b) Chief Minister Rozgar Yojna

(c) Chief Minister Balseva Yojna

(d) Chief Minister Education Yojna

Match List — I with List - II and select

the correct answer using the codes given
below the lists.

List -1 List - II
(Volcanic (Country)
Mountains)

A. Mount Rainier 1. Italy

B. Mount Etna 2. Mexico

C. Mount Pericutine 3. Philippines

D. Mount Apo 4, U.S.A.
Codes :
A B CD
@4 2 1 3
k)4 1 2 3
©2 1 4 3
@4 3 2 1

Which among the following organisations
released the World Population Report,
20217

(a) International Monetary Fund

(b) United Nations Population Fund

(c) World Health Organisation

(d) United Nations Development
Programme

‘Statue of Peace’ is situated in which
State of India ? :

(a) Madhya Pradesh

(b) Rajasthan

(c) Gujarat

(d) Himachal Pradesh

A member of State Public Service

Commission may be removed by

(a) The Governor on the basis of
impeachment in Vidhan Sabha

(b) The Governor, after the enquiry
conducted by the Supreme Court

(c) The President, after the enquiry
conducted by the Supreme Court

(d) The Governor, after the enquiry
conducted by the High Court

7.

78.

79.

80.

81.
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TR W % wwe 2021-22 F FrE domy 4
St ferenfRiat o e 3 R SO gy

(a) TEEE 31ged AT
(b) TEAHR TSI AT
(c) TEHA STeTaT A
(d) et e s

ol - 1 g - 11 & gRford SRS 7o gfeg
3 9 3 o @ e I |

et - 1 Tt - 11

(e udT) (21)
A. TR I 1. geeft
B. HISUE T 0, AR
C. TR AfgeR 3. fhefas
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He
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(@) 4
(b) 4
(c) 2
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(c) Tova waTeey HireH
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(b) TSR

(c) TSI

(d) Temrerer e
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82.

83.

84.

85.

86.

D

The name of the fope;
reported about Saty
salt works wags
(a) Francis Louig
(c) Web Miller

€lgn jo .
agr a}iaumahst who

at Dharsang

The winner of the wWo
the French Op
2021, Barborg
of the followin

men’s gj : )
en Tennis ngle title at

Krejeikovg ig fr
g Countrieg 7
(a) Czech Republic (b) Serbia

(c) Croatia (d) Spain

With reference to tp .

of the President of Inedisape\%ﬁilcﬁdc}nta}sls
following statements is/a) of the

are correct
1. The _President addr ;

€sses the joint
meeting of both houses of ParliarJnent

s ents 1of 1the first

general election of

the house of the Feople and at r%l?e
commencement of the first session
of each year,

2. The Presiden
the Parliam
summons.

Select the correct

given below.,

Codes :

(@) 1 only

(c) Both 1 and 2

tin his address informs
ent of the causes of its

answer using the codes

(b) 2 only
(d) Neither 1 nor 2

Consider the following Committees on
Panchayati Raj and arrange these in
chronological order :

[. Ashok Mehta Committee

II. L.M. Singhvi Committee
III. B.R. Mehta Committee
IV. G.K.V. Rao Committee _
Select the correct answer from the codes
given below.
Codes :

(@I, I, I, Iv
(1, I, I, IV

(b) I, I, IV, II
(d) 1L, I, IV, I
Who among the following was NOT

associated with the Kanpur Conspiracy
Case of 1924 ?

(2) Muzaffar Ahmed (b) Nalini Gupta
(c) Shaukat Usmani (d) M.A. Ansari
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82,

83.

84.

8S.

86.
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I Tl wsrepm 1 s wraTed R SR wTee
T T ARWE F i #f TR R |
() Shiftrer (b) =T gef

(c) 5 firere (d) e B2

(b) wfefan

(d) T

I & el ¥ fagy AR % T A

ﬁw‘rﬁmﬁéaﬁq-m/ﬁma@%/%?

1. Tgufer, e 3 Trame fata &
TR SO T 3R TR 9§ F o wy %
mﬁﬁm%ﬁéﬁﬁaﬁﬁﬁ@m
1 HIer e 3 |

2. Trgufr a1 Sfiveer & wag ) 9 o
o ol o forwa # wfm W g

TR IW H T, T RY ™ 52 K weEm Y

HI | - |

He |

(2) o 1 (b) et 2

(c) 1aem 2 gt CEKIBER T

et T W e afift W fRew i g
T2 HICTHHATIHR S ferd = ;

I. 31 Nean wihfy

II. T1.wH, Toueh wfify

II1. sft.3mR. A= wfify

V. sft.% 4. va afify

A= fae T e it wer & S =
Hifsrg .

e

(@) 1, I, I0I, IV
(© I, I, I, IV

(b) III, I, IV, II
(@ I, I, IV, I

7 5 & 3 T 1924 F HEE veds W §
it 7 o ¢ 1 rves

(@) BIFHR TG (b) Tl e

(c) Teha IEAF () T U, @
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87. Which of the following types of glass can

88.

89.

90.

cut off ultraviolet rays ?
(a) Soda glass

(b) Pyrex glass
(c) Jena glass
(d) Crookes glass

Given below are two statements one is
labelled as

Assertion (A) and other as
Reason (R) :

Assertion (A) : The President of India
determines‘the~qua1ifications of the

Chairman and Members of the Finance
Commission.

Reason (R) : Chairman and members are
appointed by the President of India.

Select the correct answer using the codes
given below.

Codes : ‘
(a) Both (A) and (R) are true and (R) is
correct explanation of (A)

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

With reference to NTPC unit at Singfauli,
which of the following statement [sis/are ||

correct ?

1. It is situated in Northern part of
Chhattisgarh State. ) !

2. It'is NTPC’s oldest unit. - _

Select the correct answer using the codes |

given below.
Codes :

(a) Only 1

(b) Only 2
(c) Both 1 and 2

(d) Neither 1 nor 2
In which. of the following years, the

Environment (Protection) Act
the Government of India ?

(a) 1982 (b) 1986 "
(c) 1990 S @199z

87. fr=fufen # & wfa 1 3w

88.

89.

. 90.
passed by [
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_mm !
forot ) Frea @ 7 o,
() BT ®i"
(b) TR Hie
(c)ﬁmaﬁa

(d) T i

et S e fw e €, Rt & v ot ey
3T TR Y HR (R) FaT TR

AR (&) : o T % rener 3 ewi
st w1 Rerfor wra o wsaf s |
FR (R) @ de98 T Tew i PR o 3
Tgafa o gRT Biel R |

et o 0 e i T @ e s E T
ity

%e:

(a) (A) 3R (R) 3t wea & okt (R), (A) BT
STEAT T &

(b) (&) 31K (R) 3t wear &, g (R), (A)
e AT e ot ®

() (&) T ?, g (R) ol B

(d) (A) TTa R, R (R) wr @

WAL, e R =5 $ o= §

e & & S-w1/2 wem w2/ 7

1. T% TG TS & It W A fRm 2 )

2. T A, v o g 2 |

(4)

.ﬁﬁtmﬁﬁaﬁmaﬁgﬁm

T

(a) e 1 (b) aet 2

(c) 1 3R 2 3 (d) FT@ 1§ 2
ﬁﬂ%ﬁgﬁﬁ%ﬁwa&ﬁmwmm
(Tfeor) rfefvem i R ey -
(a):1982 - (b) 1986
(c)'1990 - (d) 1992



91.

92.

93.

%4,

95.

onsider the facts given, .
T Sukumar Sen was the SO i,
Election Commissjoney of Indirite
2. Ralfna}gl))lew'was the first womap
g(lilfaf ection Commlssmner of
Choose the correct
codes given below,
Codes : _
(a) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Both 1 and 2 are incorrect

answer from the

PM VANI Yojna is related witp

(a) ﬁ%rési'gmhip in Print and Digital

(b) Development of Lok Sangeet
(c) Audio-Visual Release of Lok Sabha
(d) Availability of Wi-fi in Public places

In February 2021, Ngozi Okonjo Iweala

was appointed as the first woman Director
General of World

She belongs to which of the following
countries ?

(a) Nigeria
(c) Kenya

(b) South Africa
(d) Ethiopia

Which one of the following is NOT an
element of rural community ?

(a) We-feeling (b) Cultural diversity
(c) Territory  (d) Self-sufficiency

Site of gaseous exchange in lungs is

- (a) Tracheoles

96.

(b) Bronchioles

(c) Pulmonary vein

(d) Alveoli

Which of the following pair is NOT
correctly matched ?

(Place) (Tribe)
(a) Alaska - Koryak
(b) Borneo “= Punan
(c) Arab Desert — Ruwala
(d) Sweden and Finland - Lapps

Trade Organisation. .

91.

92.

93.

94.

95.

96.
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97.

98.

99.

100.

101.

102.

103.

104.

ference to the electric potential,

with ref the following statements is/are

which 0

rect ‘
Clo.rIt is a scalar quantity.

5. It is a vector quantity.

Select the correct answer using the codes
given below.

Codes :

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2
Which of the following Articles of
the Indian Constitution is related to
Contingency Fund ?

(a) Article 265 (b) Article 266

(c) Article 267 (d) Article 268

The Nobel Peace Prize, 2020 was awarded
to which of the following organisations ?
(a) World Food Programme

(b) United Nations Development Programme
(c) World Health Organisation

(d) World Bank

In which State of India is the Harappan
Civilization site Mandi situated ?

(a) Gujarat (b) Haryana
(c) Rajasthan (d) Uttar Pradesh
The book ‘Fawaid ul Fawad’ is the

record of the conversations of Shaikh
Nizamuddin Auliya, it was compiled by
(a) Amir Hassan Sizzi a5

(b) Amir Khusro g

(¢) Ziauddin Barni

(d) Hasan Nizami ‘

Which one of the following is the main
constituent of LPG ? S '

(a) Hexane
(c) Butane

(b) Pentane
(d) Methane

According to the Union Budget 2021 - 22,
Finance Minister proposed a new
levy Agriculture Infrastructure and
Development Cess. This cess will be
levied on how many products ?

(a) 12 (b) 20

(025 (d) 29 |
Which of the following Islands is NOT
located in the Caribbean Sea.? .

(a) Grenada (b) Montserrat

(c) Madeira (d) Anguilla -

97, forqa

98.

99.

100.
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104.
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(c) 1 3fit 2 gHi (d) TR 1T 2
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(a) IFTWT 265 (b) T3 266

(c) TTTT 267 (d) *1g=Re 268
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e Y WM R e g 7
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Al S92 2021 ~ 22 % rFEr B Y
11 T fosm &9 & T & e T
fora § | Tm o Fore Seurel ue e St 7
(a) 12 (b) 20

(c) 25 (d) 29

FreiorRer 3 & s —a o S T o

i :
(b) TR

() ¥t
ey Sheiu (d) Sy



105.
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107.
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Given below are twq st
labelled as Assertion (tﬁ)te;nn%nts one is
Reason (R) : other as
Assertion (A) : The
a tough time tack]j
inflation.

Reason (R) : The sityat;
deficiencies eXisting Iiléltlo

such as supply bott]
distribution. Shsck

Select the correct

given below,

Codes :

(a) Both (A) and (R) a | i
correct explan(at)iorfeofF ?X)e IR &

(b) Both (A) and (R) are true, but (R) is
not correct explanation of (A)

(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true.

8OVernment faces
N the bottleneck

n is due to
the economy
and inefficient

answer from the codes

After cutting cucumber if salt is added,
then water comes out due to -

(a) Active transport
(b) Passive transport
(c) Osmosis

(d) Diffusion

Under the Constitution of India which

of the following is NOT a Fundamental .

Duty ?

(a) To vote in General Election

(b) To develop the scientific temper

(c) To safeguard public property

(d) To abide by the Constitution and
respect its ideas

Who among the following was NOT an
early member of the ‘Naujawan-Sabha’
formed in 1926 A.D. ? e LN

(a) Bhagat Singh  (b) Yaspal =~ . ..
(c) Chhabil Das (d) Ambika Chakravarti

Foreign Minister of a country, Anthony
Blinken had visited two days to India for
strengthening co-operation on July 27

and 28 in 2021. He belongs to which of |

the following countries 2. - .
(@) United Kingdom B P
(b) United States of America_
(c) France =~ ' 5

(d) Australia

105.

106.

107.

o odmTE
109.
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108.
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| ' itution
i the following Constitu
AE X,rlrlllecr}:d?rfent Acts made necessary

rovisions for the implementation of GST
FGoods and Service Tax) regime ?

(a) 1015t Amendment Act
(b) 102°¢ Amendment Act
(c) 103" Amendment Act
(d) 104" Amendment Act

111. Which of the following is indicator of air

pollution ?
(a) Puffballs (b) Algae
(c) Lichen (d) Moss

112. Headline inflation refers to the change
in value of all goods on the basket. On

which basis is the headline inflation
measured ?

(@) Wholesale Price Index

(b) Consumer Price Index for Industrial
Worker

(c) Combined Consumer Price Index
(d) Urban Consumer Price Index

113. Which Constitution Amendment Act

reduced the voting age from 21 years to
18 years ? -

(a) 66" Amendment
(b) 6274 Amendment
(c) 615t Amendment
(d) 639 Amendment

114. ‘World Ozone Day’ is celebrated on
(a) 25t December
(b) 215t April
(c) 16th September
(d) 30th January

115. Which among the following is NOT a

major factors of economic growth ?

(a)' Accumulation of capital and
reforms in technology

(b) Change in population

(c) Division of labour in specialised
activities ¢ B

(d) Technocrats and Bureaucrats

114.
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(a) 66 af TMEA |

(b) 62 AT G

(c) 61 &l TMew

(d) 63 af TMEA

‘Torea oM fema’ waman wman &

(a) 25 femm =

(b) 21 1%t I

(c) 16 R =Y

(d) 30 S=l =t

frefafean § @ SF-ar anfle R =1 1@
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118,

119,

. 8ven below, ., . ., -
Cddéé BB iRt oy

Which of the fo]]q
?

Wing ;
matched g is oT COI‘rectly
(a) Acid present in ~ Aces:
vinegar Cetic acig
(b) Compound Present . i e
in bones Cﬁlcmm
(c) Souring of mjJ) _ §_t°§pha.te
(d) Acid present in - Hl ;m acid
gastric juice ag; rochloric

of both Lbk Sabh
and Rajya Sabhg are elioj a
Ministers in Union Go?; 1gible to become

€rnment,,
ggglc]t égieéi;’().rrect answer using the codes
Codes 7o o
(a) Both (A) and (R) are trye
correct explanation of (A)
(b) Both (A) and (Rl) are true, but
not correct explanation of (A)
(c) (A) is true, but (R) is false
d) (A) is false, but (R) is true

and (R) is

(R) is

Which one of the following is NOT
correctly matched ?

SMRN-1 - 21

116. Freffa 3 & wr—ar wdt g 7 3 7

117,

-118.

(Ruler) (State)
() Rana Hamir — Mewar:,
(b) Rana Chunda - Marw.arA e
(c) Malik Raja Farooqi- — Khandesh® = ' |
(d) Malik Sarwar = Malwa

Khwaja Jahan PRe 1707 ook

With reference to ‘birth rate’ which of the
following statement(s) is/are correct ?

w1 Urbanization helps in reducing the

birth rate.”

2. High literacy rate is directly related
to low birth rate.

Select the correct answer usingthe codes :

It 7_"1~'\“'1,‘:l-“ =

0% ’(b) "Ontly 2 LR A

(2) Onl
o 1 (d) Neither 1 nor 2

(c) Both 1 and 2

119.

-23-
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& = T

(c) (A) & &, fFg (R) o ®

(d) (&) T B, fhg (R) Tew R
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(VTrereR) | (wr3)

(a) T TR H L e

(b) T ST - HTETE
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1. TRIHT X it HF HH 1 HgE § |
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.+t of Culture, Government of India
e lem;itﬁ' of Azadi ka Amrit Mahotsav
celebrated the birth anniversary ©O
Saheed Ram Prasad Bismil in Jun¢,
5021 at which one of the following places
in Uttar Pradesh ?
(a) Chauri Chaura (b) Shahjahanpur

(c) Rampur (d) Ballia

121. With reference to Mekong river, which of the
following statement/s is/are correct

1. Mekong rises in Tibetan Plateau

2. Mekong delta is situated in
Southern Cambodia.

Select the correct answer using the codes
given below.

* Codes:
(a) 1 only (b) 2 only
(c) Both 1 and 2  (d) Neither 1 nor 2

122. With reference to the G-7 Summit held
in June 2021, which of the following

statements is/are correct ?

1. United Kingdom was the Chair of
the Summit.

9. Brazil was invited to the Summit as
a guest country.

Select the correct answer using the codes

given below.

Codes :

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

123. ‘India climate change knowledge portal’

months of 2020 ?

(a) November, 2020

(b) December, 2020 -

(¢) September, 2020 -

(d) October, 2020.. .|

A non-renewable source of energy is
(a) Solar energy  (b). Petroleum

(c) Wind energy  (d) Biogas

124.

The concept of ‘carbon credit’ originated
from P

(a) Earth Summit, Rio-de-Janeiro:

(b) Kyoto protocol

(¢) Montreal protocol

(d) G - 8 Summit, Heiligendam -

125.

120.

121.

122,

123.
was launched in which of the following

124.

.125.
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(c) THI
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FEAE AT |
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2020 ¥ Frefafas # & fFg wfe @ e
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(a) TEFR, 2020 H

e
(@) had 1

" (b) femR, 2020 H
(¢) T, 2020 #

(d) FHH, 2020 #
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128,

Reason (R) :
Assertion (A) : The My
originally a Military St
Reason (R):The vitamy
of the Central
depended on its

Select the correct
given below,

Codes :

(a) Both (A) and (R) are try i
correct explanation of (ﬁ) and®) is
(b) Both (A) and (R) are true, but (R) is
not the correct €xplanation of (A)
(c) (A) is true, but (R) is false

(d) (A) is false, but (R) is true

ghal Emp;
Eroy mpire was

ofthe development
G,O.Vernment S}Ir)stem
military power,

answer using the codes

Match List - I with
the correct answer u
below the lists,

List - 1

List - II and select
sing the codes given

List - II
(State of India) (Highest Peak)
A. Tamil Nadu 1. Dhupgarh Peak
B. Rajasthan 2. Saramati Peak
C. Nagaland 3. Gurushikhar
Peak
D. Madhya Pradesh 4. Dodda Betta
Peak
Codes :
A B C D
(@) 3 2 1 4
b)) 1 4 3 2
(c) 4 Dot =3 1
d 4 3 2 1

With reference to the radioactivity,

which of the following statements is/are |

correct ?

1. Radioactivity is a nuclear propérty._ |

2. Hydrogen bomb is prepared on the
principle of nuclear fission.

Select the correct answer using the codes.

given below.
Codes : S R (o
(&) Only 1 (b) Only -2 1.
(¢) Both 1 and 2 ' (d):Neither'1 rior 2

126.

127.

128.

SMRN-1 - 21

i 3 e R e, Rl & Tk 1 AR (A)
qYT GER Y HT (R) Fgl T B

AR (A) : T Ty g &9 8 T iR
T o7 | ,

HR (R) : Hl T saeen & farE 6l
T Iueht e wifFa w Pkt off |

A T T e ¥ W SCH T AR |

T{d.

(2) (A) 3R (R) 3T & € ik (R), (4) B
& ST T

(b) (A) 3R (R) Qi w4 &, B (R), (A) 1
Y ST T T B

(c) (A)W’é,ﬁﬁ (R) 7TeTa 8

(d) (A) e @, Feg (R) ot &

T - I gt - 11 & il hiftr qon gfw
% = fu 7T g @ 9 s w1 ww Al |
gt - 1 T2l - 11
(ST % ) (T =i i)

A , 1. YoE St e
B. T9EIH 2. W =,
C. el 3. TERER 91ds
D. Weg 4. TIST g Al a

®e: '

A B C D

@ 3 2 1 4
) 1 4 3.2

(€)1 4 Q" S g R

@ 4 3 2 1

et % ool § FrerfrRae et # @

FH-T/A TR R/E |

1. el o g oy |

2: TR forave % fagr w gregen W
T T § | '

e T T e i wEmEar ¥ wé SR F oW
IR ’ -

() e (o) w2

(€ L3R2gH = (d) AM1Td2
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i -
199, The Public Accounts Committee of Indian | 129. T T 3 T AT & E{?ﬁé
Parliament scrutinizes the () frizer @ HeR@r WiEeh % gfae
a) Report of the Comptroller and
) Aulghtor General " (b) W 1 Wi AR et
(b) Consolidated Fund of India ¥ i @ i
(c) Public Account of India (61170 = AR
(d) Contingency Fund of India ‘ (d) ¥d il
130. Who originally propounded the theory of | 130. TR 61 i STEEa F ﬁxam TR
three stages of social development ? foper wieaen foRam o ?
(@) Karl Marx ~ (b) Talcott Parsons (a) STt HTR (b) TTHIC Wq'@’\"'
(c) Herbert Spencer (d) Auguste Comte (c) TEE T (d) 3T
131. Which one of the following pairs is NOT | 131. ﬁﬂﬁ“‘lﬁﬂﬁ F ¥ B-91 T I wl gafd
correctly matched ? TR
(Tirthankar) (Nirvan Place) (ceferr) (Fafor o)
(a) Rishabhanath - Ashtapad EVERREIE] - MG
(b) Vasupujya - Sammedashikhar (b) ITgLSA = mﬁﬂ@:
(c) Neminath. . . - Urjayanta- - - (c) AfrrFEr - I )
(d) Mahavira — Pavapuri (d) HETER - wEEd oo
132. Which one of the following books written 132. A ﬁ:ﬁ?ﬂ et T ?;'R'T Aicr
by Noble Laureate Amartya Sen and Frefefea o ﬁ H-9l Th §8l§ 2021 ¥
published in July, 2021 ?° BEAING] Qﬁ ? '
(a) Development and Freedom (a) ENS hied
{(b) The Argumentative Indian (b) g emiHeRa e
*(c) Home in the World () BIFT ER'—%
(d) The Idea of Justice - (d) q e 1w SIS ;
133. The functwns of the State Pubhc Semce 133.3W oY % UG A AT FAET F B F
Commission of Uttar Pradesh can be fyear T <1 96T B
extended by @) T g
(a) Prime Minister ", 0 ¥ ﬂ fita, ﬁ
(b) Union- M1n1stry of- Personnel Pubhc - Ab) Fﬁ? H?JT W
Grievances and Pensions LEISERAN ‘
(9T he President a ' (c) Trsgufa -gra Vom S
(d) Uttar.Pradesh State Leg1slature (d) TR Je1 e wosd g
134. Dllffusthr}gﬂ light in the atmosphere takes 134 SRS H FehIA < ST hT HRT %
place due to W_ 3413@33 T
(a) Carbon dioxide - (a) SR~ O
(b) Dust particles (b) u@ O
(c) Helium (c) Eferm
(d) Water vapours (d) T T
135. gt};;ihpgg(g% tge sfgg)ﬁ‘élsrlgl gligrrlrcrf: g? | 135. 3T 791 1 Frerfeifiga &, it EﬁT{-EI ﬁT@T W
area ? = ‘ ﬁ'{@ﬁ‘ﬁ'@@‘m%? o
(a) Hamirpur ~ (b)- Ha.rd01 (a) Etﬁ”(ﬂ'( (b) 3@?
(c) Hathras _(d)- Hapur _ (c) TIE | (d) g[gg é
-26- _ il



A clove represe

136- following ? nts to Which of t}e
(a) Terminal bud (b) Acc
(c) Flower bud @ v Sory bud

_ Cgetative bud
7. Wit}l reference to the ¢
3 which of the staternentcs:

1. Process of capita] f, i
SS ( I'mation ¢

gn savings .and effectivenczapcmds

nancial institutiong. =

2. Investment is the
capital formation.
Select the correct answer using the codes

1 Apital formatiop’

1s/are correct

€ssential factor of

given below.

Codes :

(a) Only 1 (b) Only 2

(c) Both 1 and 2 (d) Neither 1 nor 2

138. Which one of the followin O
correctly matched ? g pairs 1s NOT

(a) Vitamin-A - Orange

(b) Vitamin-C - Lemon

(c) Vitamin-D - Cod liver oil
(d) Vitamin-Bg - Rice bran

139.In which year the book ‘Poverty and
Unbritish Rule in India’ was published ?

(a) 1900 A.D. (b) 1901 AD.
(c) 1902 A.D. (d) 1903 A.D.

140.Match List — I with List - II and select
the correct answer using the codes given
- below the lists. ' g

List - I List - II
" (Biosphere) (Location) -
A. Similipal 1. Uttarakhand
B. Pachmarhi 2. Meghalaya
C. Nandadevi 3. Madhya Pradesh
D. Nokrek 4, Odisha
Codes:
"~ A B C D
@ 4 3 2 1
b 4 3 1 2
© 13742 . ..
@ 3 4 1 2

RN T T P SRR

SMRN-1 - 21
136. ©ff frfifaq o g FETU R ?
(a) ITaEY Heft (b) GgRI FHeft
(c) Rt heft (d) areafer el
137, &t Fmfor & wef # P-m1/@ FoF G
?/8 7
1. Ysft fmfor <t wfshen st 3l frftg
geenatt <t wonrferar W Fift et R
2. Thawr ol Fmior 36 fore w e s 2 |
i fow o e A W IR g |
e
(a) et (b) Faet 2
) 13R2d (@ IM1ITE2
138. Frafafga o & wF-a1 30 & gafa T 2 ?
(a) ferfim-A — G
(b) frrfim-cC — fiq
(c) feftm-D — IS ISl HT a0
(d) ferTfim-B, — Y W A
139. uradf ws smfsifen @ 1 sfosa’ TS TS
ore o eIl &8 7 ‘
(@) 1900%. (b) 1901%.
(c) 1902 %. (d) 1903 %.

140. 92 - T gt - 11 & ghfra A e e
% e R T g F wE I A S I |
gR-1 Tl - 11
GELLER) - (srafeafd)

A. Taftrefiare 1. STETE
e AR
C. Tt 3. WEY Weu
D. et 4, InfEm
EEE:A B C D

() 438 .2 1L

@ 4 3 1 2

@ 1 8 452

d 3 4 1 2

.27-



141.

142.

143.

144.

145.

146.

147.

‘Zero Hour’ in the working of the Indian
Parliament means

(@) The first hour of the Session
(b) When privilege motion are accepted
(c) Hour before question hour

(d) The time immediately following the
question hour

Which of the following State has the

lowest density of population as per the
Census of 2011 ?p P d

(a) Himachal Pradesh
(b) Arunachal Pradesh
(c) West Bengal

(d) Mizoram

Flyash pollution is caused by

(a) Oil refining

(b) Fertilizer industry

(c) Thermal power plant

(d) Mining s

Which of the following is 'the largest

lagoon lake situated on the east coast
of India ? i et '

(b) Chilka
(d) Kilivali

(a) Pulicat
(c) Kulleru

In India the First Municipal Corporation |

was set up in which one among the
following places ? o e Lo e

(a) Calcutta
(c) Bombay

' (b)- Madras

Who,.among.-the' following. hasbeen

appointed as first-Womern
Secretary in United States of America ?
© - (b) ‘Janet Yellen

(a) Lyoyd Austin
(c) Merrick Gardand (d) Tullipan

‘Uttér Prédésh Swan;li‘Viv.ekanand
Etihasik Paryatan Yatra Yojna 2021’ was

introduced-by the U.P. Government for |
which of the following people for religious .

travel ?

(a) Elderly (b) Women

.....................

Treasury |

(c) Widows

141.

142.

143.

144,

(o) T

145.

147.

() M TR

1

SMRN-1 - 5,

i e <) e H T A ey
(a)u’:rzwruaﬂti‘a _
(b)wﬁﬁvﬁﬁwmwﬁ?ﬁ‘éﬂ%

(c) S Tt o6 Gl T A

(d) e T ot Sieh AT, T A

001 1 Y SFRTIRT <6 AT b T 1 Stigy
ed g A A7 7

(@) Temreret e

(b) eV T

(c) Tfvet STt

(d) T

TSR GV Il B
(@) dT M H

(b) Ak I |

(c) T forgre = @

(d) @ &

frfifad ¥ & wia & qoff ae W fErd Tl o
AT et - 7 7
() JeiTRe (b) Tereem

(d) Ferefraett

e & ¥ Rre wum W WRa o guW TR Fm
T fomam T o ?

(a) Shaahdl
(c) ST

(b) T
(@) T

146. frtffea & & e Gaea Tog i 3

o w%maaﬁ
T
(a) oIs ifee

et % wu i frg

(b) ST I
- (d) =

TR e Tt e Weiie wer @
ASAT 20217 i I T2 THR T afites 76
% fore 1.3 v it 3 forg s 4

SRR

@ TR (o) et
(c) Tereranatt % fam (d) wed ¥ R
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149.

150.

g. The blood gjy,

expressed gg eve

(a) MM of Hg

(b) Milligram Per deg
(c) Parts per millipy,
(d) Gram per lityq

l i
ilitre

Match List — With 1
t-1
the correct ANSWer 1) o
below the listg, ~ "SINgthe
List — 1
(Mineray
Exploratioy,
Agencies)
Gas Commission
. Minera]
Exploration
Corporation Ltd.
. National Minera]
Development
Corporation

. National
Aluminium
Company Limiteq
Codes :
A
@4 2 3
(b) 1 2
4 3 2
d2 3 4

In the contexts of Indian history, which of

the following statement /sis/ are correct

regarding Vaikom Satyagrgha P

1. It was a satyagraha againsts - -
untouchability and caste '
discrimination. - - 4

2. Mahatma Gandhi participated in
this Satyagraha. . .

Select the correct answer using the codes

given below.

Codes :

(@) 1 only ' -

(¢) Both 1 and 2 (d) D

and select
COdeS giVen‘

List - II

1. BhubaneSWar

2. Hyderabad

4. New Delh;j

— = W~ g

b) 2only "
i Neither 1 rior 2

>

SMRN-1 - 21

148-Tﬁﬁmwwmwmmﬁﬁﬁm
ST

(8) T 31w Hg % w0y i
(b)ﬁ?ﬁmuﬁmﬁ%wﬁ
(0) T Wi fferer % =g
(d) T wfy frex % wq &

149-@%"1@@‘1”}%3%62}1%
T - 1 TEht - 11
(Tt s (o)
3firrvr)
A YT T 1. v,
B. @i smrwor i . e .
fafie

C. U wiie fyemg

4 et

.': w NNt
oA WA

c
N
w

.'_4’
150. wrreﬁﬂﬁrsm%éaﬁﬁ‘amwmg%m
'- .--wﬁvﬁﬁ%ﬁﬁmﬁﬁ%aﬁw—m/ﬁﬂﬁélﬁ ?
L. T SR S ST e 3 freg

-----

©, (o) AL - (b) FEe 2

(© 132 ad (d)'iq-%i‘("l'q"gjz

-20-.




